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Hottech

Semiconductor Plastic-Encapsulate Transistors

FEATURES D8S2(NPN)
Power dissipation
Marking : 882
MAXIMUM RATINGS (TA=2E5°C unless otherwise noted)
Parameter Symbol Value Unit
Collector-Base Voltage Vso 40 \Y
Collector-Emitter Voltage Veeo 30 \Y
Emitter-Base Voltage Veeo 6 \Y 1 BASE
Collector Current -Continuous le 1500 mA 5 COLLECTO SOT-89
Collector Power Dissipation Pc 500 mw 3 EMITTER
Storage Temperature Tstg -55-150 C
ELECTRICAL CHARACTERISTICS (Tamb=25"C unless otherwise specified)

Parameter Symbol Test  conditions Min Typ Max Unit
Collector-base breakdown voltage Vo lc = 100pA, 1e=0 40 \%
Collector-emitter breakdown voltage Vceo lc =10mA, Ig=0 30 \Y
Emitter-base breakdown voltage Vero Ig= 100pA, 1c=0 6 \Y
Collector cut-off current lco V=40V, 1g=0 1 HA
Collector cut-off current lceo Vce= 30V, 1g=0 10 HA
Emitter cut-off current lero Veg=6V, 1c=0 1 A
DC current gain eety Vo2V, Ie= 1A 80 400

heec) V=2V, Ic= 100mA 32
Collector-emitter saturation voltage V cE(sat) Ic=2A,1g=0.2A 0.5 V
Base-emitter saturation voltage V BE(sat) Ic=2A,1g=0.2A 15 V
Transition frequency fr Vee= SV =014 50 MHz

f =10MHz

CLASSIFICATION OF HFE
Rank R @) Y GR
Range 60-120 100-200 160-320 200-400
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COLLECTOR CURRENT vs.
COLLECTOR TO EMITTER VOLTAGE
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BASE AND COLLECTOR SATURATION
VOLTAGE vs. COLLECTOR CURRENT
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Veesa) —Base Saturation Voitage—V
Veegsay —Collector Saturation Voltage—V

DC CURRENT GAIN, BASE TO EMITTER
VOLTAGE vs. COLLECTOR CURRENT
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GAIN BANDWIDTH PRODUCT wvs.
COLLECTOR CURRENT
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